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Ogxz 10,000
-EEHI(H = LHIE &)
10,000,000 10,000
301 LEIE NS 3,500 3,500
11 dALEEIXIZE S 3,500 3,500
Odlled FIHA F2o dHI2Y
20,0003 %1759 3,500
HONZ(REX XIS 10,829,577 11,421,726 A532,149
= 777,000
[ 35,000
Jl 6,100
s 1,520,634
s 8,490,843
HIE &6t Ehl 484,800 484,700 100
HIE EotE R X2l At 484,800 484,700 100
201 =3 30,800 29,700 1,100
01 At22t2lt] 30,800 29,700 1,100
ogxz 30,800
-HIE &0t Mool ISRt
770,000 *400H 2~ 30,800
401 AIZHIX S0HH 454,000 455,000 21,000
01 A28l 454,000 455,000 A1,000

_14_




SN QHERIST
3. SHHEHINL (SEXXSFNL /=)
s HIZEotAE| EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OAl&H| 280,000
-HIE oA THOHAIE OIS & RXI22IAFY
280,000,000 280,000
OSHAAAMS(7TH2) 174,000
-gX DA ZHIAFS (L=80m)
30,000,000& 30,000
-2l SAZAE FHIAHE (L=70m)
30,000,000& 30,000
-0 2EXAE ZHIAFG (L=20m)
10,000,000& 10,000
-CHEh El&HAIE FHIAFE (L=100m)
40,000,000 40,000
-R0 SHSAE FHIAF (L=30m)
12,000,000 12,000
~CHX] HSHE ZHIAIR(L=70n)
30,000,000& 30,000
-HlE LOHAIE FHIAFE (L=300m)
22,000,000 22,000
Aot& EH| 4,575,375 5,306,090 AT30,715
= 35,000
== 17,500
T 4,522,875
ASHEEH (M EANY) 3,710,000 4,510,000 A800,000
401 Al HIZL 01| 3,710,000 4,510,000 A800,000
01 Al&H| 3,700,000 4,500,000 800,000
O saA5iE FHIAY
1,700,000,000& 1,700,000
OHA H2lA5HE HlA
1,000,000,000& 1,000,000
OAd ZH Aot HHIAL
1,000,000,000& 1,000,000
03 Al 2 CHHI 10,000 10,000 0
OO0t & HIAI (30 A) 10,000,000 10,000
A0t F X 22| ALY 795,375 796,090 AT15
201 er2 3| 35,375 36,090 AT15
01 AtR2t2|HI 34,375 35,090 AT15
Ogxz 34,375
-=410| 770,000& #2528 19,250
-g2oEd 605,000& *252 15,125
2 s5=34l 1,000 1,000 0
O332= % HAl 1,000
012 WS40t =88 RAETSS
s 100,000« 102 1,000
401 A2 HIRL R 0HbI 760,000 753,000 7,000
01 Al&HI 760,000 753,000 7,000
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A OHEXIS Dt
M SIMTHINL (SELRISNY/STH)
Chel: AGHEZHI EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O£+ THalole L S22l A
380,000,000 380,000
OSH2A2A AL (BIHA) 160,000
-EE MEIEAGHE I E2 AR (L=200m)
20,000,000 20,000
-0l Ale| A5t HHIAFY (L=60m)
40,000,0002 40,000
-01gh ADIAGHA HHIAFY (L=30m)
30,000,000 30,000
~E0F MEDIAGHE SHE 24 AR (L=400m)
20,000,0002 20,000
-2 3 S0FAGHE FHIAFY (L=30m)
30,000,000 30,000
-2S OFBASGHA SHEZEA AR (L=400m)
20,000,000 20,000
O25Hd EHIDI S SARA2IAY (LISLE
H TR I 220,000,000 220,000
ADIE HE BRIANAE(USH) 2SAIY 70,000 0 70,000
F=s 35,000
= 17,500
=z 17,500
401 Al HI 2 ST 70,000 0 70,000
F=s 35,000
= 17,500
=z 17,500
01 Al&ZHI 70,000 0 70,000
OADIE HSZRIANAH(HSE) REAL
70,000,0002 70,000
z 35,000
== 17,500
= 17,500
SH& &I 4,398,716 4,451,622 52,906
= 1,503,134
2 2,895,582
lESEINEE] 786,435 788,740 2,305
= 90,000
2 696,435
101 Q14| 384,355 365,870 18,485
M IRINZ22RSE 384,355 365,870 18,485
Osre‘ﬁ%xlaal(xﬂ FEHID| S) 384,355
s 99, 75024+ 1 H 252112 27,43
- 94,5008+ 118 %252« 112 285,863
R a=E = 17,090
B R35Y4Y
99, 750211 x 15 1,497
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2A:

BB SHEEHHL(RELNLIHL/ ST
=9l otd 3| EER-E)
SA - B GR(31) - HIRAY - BES il &k e HlmS2
orel asdey
94,5002 x 11 x 152 15,593
-2 = 330,385,000&0.0776 25,638
-E&= 75,0002 *302 * 122 +310/3652 22,932
-II=| 5,400
otEZe|H HEER(ER OtE G S)
- 220,000 129 2,640
slrzec me= < g
230,000 124 2,760
201 B2 AL| 47,000 41,370 5,630
01 ArR22ltl 35,450 29,820 5,630
Oget=2| 15,650
ot 22| ZHI (=01, DEMEDI| S) =4
=AYl 50,0002 *16CH* 123 9,600
-StEze|t 2 ARE PU(M=I] 2Y,
a3y ) 550,000 * 113l 6,050
Otz 19,800
-S| A (R Y BH| »E)
900,000 & x2CH* 112 19,800
02 E324Hl 11,550 11,550 0
(OLK=t:] 11,550
—-otdz&te| HHl 7RFU
350,000 113 3,850
-otaze| xtek 7FU
350,000 x2CH*11& 7,700
202 Ot 8,300 9,000 AT700
01 =WHO4 bl 8,300 9,000 A700
OdtdsX2e dRFH 8,300,000& 8,300
203 PR =&H| 1,000 1,000
03 AMRMZFXHRFAIH| 1,000 1,000
OdtE S X 22IAE =&
200,000& *53] 1,000
307 QI2H0| M 10,080 3,000 7,080
06 2832 10,080 3,000 7,080
Octe et Sl 2=
840,000& x 12 10,080
401 AIEHIZ 2018 330,000 364,000 234,000
& 90,000
i 240,000
01 AlEHI 330,000 364,000 A34,000
OXIgstd sX2el At
180,000,000& 180,000
= 90,000
i 90,000




od
i’
oF
uJ

-

KIO

Hlw

1,200
1,200
2,729

729
1,100
A371

MEE
Ofl &k2h

4,500
4,500
134,020
62,984
71,036

1,228,220

Ofl &F2H

5,700
5,700
5,700

1,500

1,230,949
1,584

100,000
50,000
4,200
134,749
64,084
14,584
9,000
4,000
49,500
27,720
21,780
70,665
68,960
5,760

8,000

- ESS

- SRA(E) - HIRAY

S - B

Xl

=l

3

iz
=

,0002 +6CH

1,500,000 *1CH
4,000,000&

50,000,000&

100,000,000
132,000& « 122

450,000 %20
770,000 #36
605,000& %36

80,0003 «6IH A+ 1201 =

ZE|AIAE S4l

a]
el Hl7e
= HAl

F

01 AFS2t2ltl

405 Xt

oI MR

B

=l
Mo
Ho
0
ik
G
20

[l

m_o no

800,000& 102

&I
4,600,000 122

=
>

|£?_A_T_:
STog

=X

i’
[9)
20
Ll
™0
jo ro

2,000
2,000

1,000
1,000
1,200
1,200

1,092,000
1,092,000

55,200
1,705
1,705
1,000
1,000
1,000
1,200
1,200
1,200

1,004,000

1,094,000
80,000
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200,000 %5
80,000,000&
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55,0002 %3170 2
50,0002 2~ 12&
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SN QHERIST
3. SHHEHINL (SEXNSFNL /=)
=91: sl (EH9): ®2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OXlgiote otatdHl & =XI2elAr
220,000,000& 220,000
ONgde 224 70,000,000 70,000
OSHHAAS (6IH2) 137,000
-0 SUE SOHE ZESAHL=360m)
30,000,000& 30,000
-0l EEA MelME D FHEYIAY (L=25m
) 17,000,000 17,000
~OHX EBE M2IXT GHEE A AR (L=600m)
20,000,000& 20,000
A AR AT BHEEE AR (L-600m)
20,000,000 20,000
-Goh oA TS XA (L=78m)
30,000,000& 30,000
~H0p HEE ATIXT SHEE AR (L=50m)
20,000,000& 20,000
Ot S W S+XNES HAAL
100,000,000 100,000
OWXI| LA =8 ot& 2]
17,000,000 17,000
OXlgetd 2101 & &= WA
370,000,000 370,000
OFEH =32 SX22(SHD & &=
HMA) 70,000,000 70,000
Ot MEfSHE +=HZ2t KA 22l (ZH
¥ EEH) 30,000,000 30,000
Bi=2 PAE2tel 35,064 40,320 Nb,256
403 AXIEHHSAH=201H 35,064 40,320 Nb,256
02 2|2 S0ITHEHH= R S| EtAI | 35,064 40,320 A5,256
Otf+2 sz
48,7003 60 A+ 120 35,064
ti=2 2l (<Hl) 52,268 50,342 1,926
= 26,134
= 26,134
101 @124H| 52,268 50,342 1,926
= 26,134
2 26, 134
VIR EES=TPS 52,268 50,342 1,926
Otj+2 22l o
84,3032 x 12 *31J4 420 52,268
== 26,134
o 26,134
SteE=4(&HI) 294,000 344,000 /50,000
= 147,000
= 147,000
401 AlEHIZ R0 294,000 344,000 250,000




FA QA X 4=t
BH: ST (REUIAINL /4 TR)
chl: ol &l EER=E)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 147,000
s 147,000
01 Al&H| 294,000 344,000 /50,000
OXlgiote otatE4d 294,000,000 294,000
= 147,000
o 147,000
HAHXFoIE MEHotE SR (HEALY) 2,000,000 1,500,000 500,000
=S 1,240,000
= 760,000
401 AIEHIZ SR THYI 2,000,000 1,500,000 500,000
< 1,240,000
T 760,000
01 A&l 1,995,000 1,495,000 500,000
OHGHNRSIE (eI H-HSH ) MENSH A=
A 1,995,000,000& 1,995,000
= 1,236,900
= 758,100
03 Al 2 THHI 5,000 5,000 0
ORLUANRSIE (D2 H-HNSH ) MEN 51 =
A 5,000,000& 5,000
== 3,100
o 1,900
=JtotE 7 Al2el 1,370,686 1,179,314 191,372
= 777,000
Jl 6,100
o 587,586
2IIGHE KX E4=(40H2) 777,000 680,000 97,000
= 777,000
101 @124H| 437,124 373,928 63,196
= 437,124
M ORIMZZ2NSE S 437,124 373,928 63,196
O4SZ ST (USSR 437,124
-y 99,7503« 1H+26 25 12,968
= 12,968
-gH 94,5003 x29H 262 5 356,265
= 356,265
~SSEALY(HE)
99,7503 »1&+0 898
2 898
—REEYLY(BIR)
94,5003 x29H 9 24,665
= 24,665
2"z 36,928,000 36,928
= 36,928




FA: tE X 4=t
S ol EHIHE
SE

el =Jtot
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
-II=HI(HYSE, 2ds 8)
180,000 *30 5,400
= 5,400
201 er23 | 35,076 51,072 15,996
= 35,076
02 S3=gHl 35,076 51,072 15,996
OADIEEE+2R| AR (CCTVEESIHZ)
79,0003 *37 ) 2% 123 35,076
= 35,076
308 AtXIEHMSOIE 200,000 200,000 0
= 200,000
11 SIS0t oA AS A 200,000 200,000 0
O&rAlb==Z AAE 22l (571 2)
200,000,000 200,000
= 200,000
401 AlZHIZ SO 100,000 50,000 50,000
= 100,000
01 Al&HI 100,000 50,000 50,000
OZe+=22 de3d 89
20,000,000 20,000
= 20,000
O=7lotd 2+=AIE 2=3At
40,000,000 40,000
= 40,000
O&l=AlE FXI2cld] 40,000,000 40,000
= 40,000
405 KHoHFSHI 4,800 5,000 A200
= 4,800
01 AL =S F = 4,800 5,000 A200
O=Jtotd |Al2el ZHI7L (M=l S)
480,000 * 10CH 4,800
= 4,800
2DtetE A2l (KHdl) 557,586 493,114 64,472
101 @124H| 189,846 223,772 A33,926
M ORINZZE2NSE S 189,846 223,772 A\33,926
odsdaclt 24 189,846
-9 909,750« 1H+26 L2 5,187
-BHA (Ol =21Y)
94,5002 x20H 26 L x2 142,506
“AlHEE= 147,693,000 *9% 13,293
-ti==22cloFRY
76,9603 x25H 156 28,860
201 fet= 3| 131,340 121,020 10,320
01 AtR2t2|HI 76,900 66,580 10,320
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2A: SHE X410t
T SIETHINL (FELSNL/ATE)
&elr et =Rl (SH9 H2)
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
Oo2g=< 1,400
-UE2 2B AP 2o &
=2 70,0003 *10E »23] 1,400
Oget=ZH| 21,500
—22|AIR A RIF3HIEY
3,500,000& 3,500
—ATH &Y, 227
10,0002 *1005+83! 8,000
~ISHE BAYR (3 +a8
10,000,000& 10,000
ogxtz 54,000
—2e|AtRe 2 F0
3,000,000&* 100 2 *23| 6,000
SW(zER2lE) 1,000, 000241 Ch+ 122 12,000
~ROITIEHOIT U B4
1,200,000 *3CH+8 28,800
-S3=PNY(WS, 2T 5)
600, 0002 »12CH 7,200
02 32| 54,440 54,440 0
O3223 £ HMAl 18,240
28 HMIIMNEE S
20,0003 *185+12& 4,320
“MHUZEAIAE 23S
50,000&*12& 600
~THHOZE EAIAB(CCTVRIZIINZE)
1,100,000 12& 13,200
“SHSUZACIARL Aot=EAMEE
10,0002+ 122 120
OAIZEHIR X 19,000
-SAZEl Y (&=Xt, Z2A0=I], 22|
S) =4t 1,000,000 *3CH 3,000
~THHO Z B AIAE COTV(120H) B XAIE 41|
1,200,000& 123 14,400
-E=3B2t A B2 S
100, 0003 *8IH A +23] 1,600
OXtre| 17,200
-FAZe AHEHRFH
300,000 *6CH+9 16,200
-Xtee| 2E3 100,000& %1024 1,000
202 Ot 5,400 7,100 21,700
01 =WHO4LI 5,400 7,100 A1,700
odsd Z=AME(EX) g2FE
5,400,000& 5,400
206 =4l 8,000 8,000
01 M=l 8,000 8,000
odsd A4 sXZels I 2
8,000,000& 8,000
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FA HEX 1
3. SHEHINL (SEXNSFNL /=)
thel: FItotE s X2t EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 3,000 5,000 22,000
06 2= 3,000 5,000 22,000
odsZacl a2t
3,000,000& %12 3,000
308 AtXIEMSOIE 30,000 48,222 N18,222
1 SIS0t AS A 30,000 48,222 N18,222
Oti=& |§*I£E|(9]H_j.:) 30,000,000& 30,000
401 A2 HIRL R 0HbI 190,000 80,000 110,000
01 Al&| 190,000 80,000 110,000
OS2 4 FIIFY 2% S
40,000,000 40,000
O=IIeHd(HS) e DHSA
120,000,000 120,000
O=Jlotd MY SHIDI1&Y
30,000,000& 30,000
e ZUZNHE OlAtAI 30,000 30,000
401 Al HIZL S 0HYI 30,000 30,000
01 Al&HI 30,000 30,000
O=ESF 438 NdHE 23X+ 22
TEAMI 30,000,000& 30,000
LEATFHN S X2 ALY 6,100 6,200 A100
Jl 6,100
401 Al HIZL 201 6,100 6,200 A100
Il 6,100
01 AlZ2H| 6,100 6,200 A100
OgdAF=EHXS XA
6,100,000& 6,100
7l 6,100
Y2 AHI(H™ XI==1t) (D1EH/JIEH) 56,000 53,480 2,520
eI 2HH| (M X 4=1t) 3,840 3,720 120
ol 2 HH| (A X|==1t) 3,840 3,720 120
204 ARt AH 3,840 3,720 120
02 Ma2xH] 3,840 3,720 120
o¥ag 3,840
23501 & 165,000 x1&* 12 1,980
235012t 155,000& x 12+ 123 1,860
Jl2ZHI (& X +=1t) 52,160 49,760 2,400
JlE2ZHl (& XI+=1t) 52,160 49,760 2,400
201 2= 31,460 31,460 0
01 At2t2lt] 31,460 31,460 0
Oget=ZH| 9,200,000 9,200
O=gH| 22,260,000& 22,260
202 04dl 14,700 12,300 2,400
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FA HEX 1
A HYRAZHI(LEXI==1) (DIEH/IIEH
Sl D123l (oHE X141 (S &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 2LHoIH 14,700 12,300 2,400
O=LH04HI 50,0008 x22H 123 13,200
OFEgdE, 525 1,500,000& 1,500
203 =8| 4,800 4,800
MU FA2SHIFII 4,800 4,800
ORMEZE =4
400,000 * 1 A+ 123 4,800
204 ARt AH 1,200 1,200
01 MG AR A HH] 1,200 1,200
L= LR TET]
100,000 x 12 * 12 1,200
WRES(AHEX 1) (SSEAMLHA /TR - 2I2S) 441,423 2,347,078 1,906,655
SRS (X ==10) 441,423 405,078 36,345
WS HeHXIE (A X|==1t) 441,423 405,078 36,345
RISHES 441,423 405,078 36,345
UIPIETSE— 441,423 405,078 36,345
OMtt2edl= 44,142,219,9233 1% 441,423
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